HOSPITALITY & PACKAGING



ABOUT

Redds are the original red cups in Australia.

Producing a high-quality collection of reusable and disposable, and biodegradable products that are ready for any function or event and conscious of our environmental impact.

From Tumblers to wine cups, this range is available in original red, blue and clear.

Also included in this party range is a series of fun Beer Pong games and a table to play on.

Bring your event to life with Redds.









Festivals



Tomkin is thrilled to announce we have added Redds to the Tomkin Brand. Redds is an eco-friendly range of disposable cups.

Redds have been producing this party range for nearly a decade.

Their evolving range includes a collection of reusable cups that are dishwasher-safe and sustainable for repeated use.

Suitable for functions or events, this collection is available in original red, blue, and clear and includes a fun Beer Pong range.







POLYPROPYLENE DOUBLE WALL

Lightweight and impact resistant. Hygienic, durable, odourless and flavourless polypropylene can withstand the rigours of commercial use.



100% RECYCLABLE

Our range of recyclable products have been produced to lower our carbon footprint. Embracing our responsibility to make a positive future change, this range minimises its environmental impact.



BPA FREE

High quality and toxin-free, our carefully created melamine are BPA Free. Durable and sturdy without harmful chemicals, our BPA Free products are completely food safe and odour-free, making them perfect for outdoor and commercial use.

CORE RANGE

PARTY & EARTH FRIENDLY, REDDS COLLECTION OF REUSABLE AND DISPOSABLE CUPS IS PERFECT FOR ANY EVENT. THE REUSABLE RANGE IS DISHWASHER SAFE FOR REPEATED USE, AND THE ORIGINAL CUPS ARE 100% RECYCLABLE AND BPA FREE FOR A MORE SUSTAINABLE FUTURE.



MICROS RED SHOT CUPS

Item Code

Item Code Capacity

Contains

Item Code

Size

Qty

Material

Qty

Capacity

Qty

RC-60RD50-4 60ml 50/Pack | 200/Ctn



MICROS RED SHOT CUPS

RC-60RD50-16 60ml 50/Pack | 800/Ctn



MINIS RED CUPS

RC-285RD40-16 285ml 40/Pack | 640/Ctn



BIG RED CUPS

RC-425RD25-12 425ml 25/Pack | 300/Ctn



BIG BLUE CUPS

RC-425BU25-12 425ml 25/Pack | 300/Ctn



CUP PONG PACK

RC-CP425RD20 425ml 20/Pack | 240/Ctn 20 x Red 425ml Cups & 3 x Ping Pong Balls



CRISTAL RANGE WINE CUPS

RC-W175CR8-15 175ml 8/Pack | 120/Ctn Polystyrene



CRISTAL RANGE CHAMPAGNE FLUTE

RC-C175CR8 175ml 8/Pack | 120/Ctn Polystyrene



WHEAT STRAWS

RC-ST25WH50 204mm 50/Pack | 600/Ctn Wheat





POLYPROPYLENE DOUBLE WALL

Lightweight and impact resistant. Hygienic, durable, odourless and flavourless polypropylene car withstand the rigours of commercial use.



DISHWASHER SAFE

Dishwasher safe products are essential for any hospitality business. Our dishwasher safe items are guarnteed to stand up against everyday commercial use rigors without compromising their original lustre or finsih.



BPA FREE

High quality and toxin-free, our carefully created melamine are BPA Free. Durable and sturdy without harmful chemicals, our BPA Free products are completely food safe and odour-free, making them perfect for outdoor and commercial use.

REUSABLES

PARTY & EARTH FRIENDLY, REDDS COLLECTION OF REUSABLE AND DISPOSABLE CUPS IS PERFECT FOR ANY EVENT. THE REUSABLE RANGE IS DISHWASHER SAFE FOR REPEATED USE, AND THE ORIGINAL CUPS ARE 100% RECYCLABLE AND BPA FREE FOR A MORE SUSTAINABLE FUTURE.



MICROS RED SHOT CUPS

Item Code

Item Code

Capacity

Material

Item Code

Capacity

Material

Qty

Qty

Capacity

Qty Material RC-RE60RD10-6-3 60ml 6/Pack | 60/Inner | 180/Ctn Double Wall Polypropylene



MICROS RED SHOT CUPS

RC-RE60RD10-6-4 60ml 6/Pack | 60/Inner | 240/Ctn Double Wall Polypropylene



MINIS RED CUPS

RC-RE285RD3 285ml 3/Pack | 36/Ctn Double Wall Polypropylene



BIG RED CUPS

RC-RE425RD3-12 425ml 3/Pack | 36/Ctn Double Wall Polypropylene



CUP PONG PACK

RC-REPP425RD6-6

6/Pack | 36/Ctn 6 x Red 425ml Cups & 3 x Ping Pong Balls



WINE TUMBLERZ

RC-RE360CR3-12 360ml 3/Pack | 36/Ctn Double Wall Polypropylene



SILICON SHOT CUPS MOULD

RC-SL1RD1-8 4 x 30ml 1/Pack | 8/Ctn Red Silicone



BEER PONG TABLE

RC-BPTBK1-1 2400x600x700mm 1 Each Aluminium







100% BIODEGRADABLE

Functional and sustainable, this range of 100% biodegradable products strives to minimize its environmental impact. These items degrade without leaving any toxins behind with the ability to break down and return to nature.



COMPOSTABLE

Reducing the impact on the environment, our commercially compostable products are suitable for composting in a controlled setting. The multi-step process closely monitors the temperature control and oxygen levels to create high-quality, toxin-free compost.



FOOD HYGIENE CERTIFIED

Created using sustainably sourced materials, this range has been hygienically certified for food and beverage use. With the highest levels of food safety in mind, this range is safe, responsible and natural.

SUGARCANE

MADE USING SUGARCANE FIBRE, STROH'S SUGARCANE RANGE IS AN **ECO-FRIENDLY PLASTIC-FREE** ALTERNATIVE. **100% COMMERCIALLY COMPOSTABLE CERTIFIED**, THESE PLANT-BASED DRINKING STRAWS **BREAK DOWN IN 160 DAYS** AND WILL **GROW BACK OVER TIME**.



REGULAR STRAW UNWRAPPED

Item Code Length Diameter Qty STHSC6S 200mm 6mm 500/Box



REGULAR STRAW UNWRAPPED

STHSC6L 200mm 6mm 3,000/Ctn



REGULAR STRAW WRAPPED

STHSC6WRPS 200mm 6mm 500/Box



REGULAR STRAW WRAPPED

Item Code Length Diameter Qty STHSC6WRPL 200mm 6mm 10.000/Ctn



REGULAR STRAW UNWRAPPED

STHSC8S 200mm 8mm 300/Box



REGULAR STRAW UNWRAPPED

STHSC8L 200mm 8mm 1,800/Ctn



REGULAR STRAW WRAPPED

Item Code Length Diameter Qty STHSC8WRPS 200mm 8mm 300/Box



REGULAR STRAW WRAPPED

STHSC8WRPL 200mm 8mm 6,000/Ctn



80% PLA 20% Fibre



Not Authorised in SA

WATER GRASS

STROH'S WATER GRASS RANGE OF DRINKING STRAWS FEATURES NATURAL RIDGES, GIVING A BEAUTIFUL **ORGANIC LOOK**. **100% NATURAL** AND MADE USING WILD LEPIRONIA GRASS FROM VIETNAM, THIS RANGE OF STRAWS ARE **HOME COMPOSTABLE, GLUTEN-FREE, AND ARE 100% BIODEGRADABLE**.



COCKTAIL STRAW UNWRAPPED

Item CodeSTHWG14SLength140mmDiameter5-8mmQty500/Box



COCKTAIL STRAW UNWRAPPED

STHWG14L 140mm 5-8mm 15,000/Ctn



REGULAR STRAW UNWRAPPED

STHWG20S 200mm 5-8mm 500/Box



REGULAR STRAW UNWRAPPED

Item CodeSTHWG20LLength200mmDiameter5-8mmQty12,000/Ctn



100% Natural



Gluten Free



WHEAT

NATURAL, ORIGINAL AND **RAPIDLY RENEWABLE**. WHEAT STRAWS WERE THE ORIGINAL INVENTION BEFORE SYNTHETIC MATERIALS WERE USED. **CRAFTED BY NATURE** USING THE **STEM OF A WHEAT PLANT**, STROH'S WHEAT RANGE IS **ENTIRELY GLUTEN-FREE**, NATURALLY WATERPROOF, SO THEY WON'T GO SOGGY AND ENHANCE YOUR PRESENTATION.



COCKTAIL STRAW UNWRAPPED

Item CodeSTHW14SLength140mmDiameter4-6mmQty1,000/Box



COCKTAIL STRAW UNWRAPPED

STHW14L 140mm 4-6mm 16,000/Ctn



REGULAR STRAW UNWRAPPED

STHW20S 200mm 4-6mm 500/Box



REGULAR STRAW UNWRAPPED

Item CodeSTHW20LLength200mmDiameter4-6mmQty8,000/Ctn



100% Natural



Gluten Free



Hand Made







46 Sunset Avenue, Warilla NSW 2528 (02) 4296 9708 info@lcpackaging.com.au www.lcpackaging.com.au